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sr#p£ ste-sk 37w3 sis' <ik.
pep 3ftp ftreef^ 37$oT cTf o5RtT WcR 31? ^eTT.

3) ?«ifw mmkm m wmtit sidl<p$fi 
M$<t>i sk-sk 3fqpM 3i? *tk.

3ooR 998.56

srnmz vsektd zsfrf® m&t -

33L 1.21 € wwm wtitti <(&$& <m°t.

3k
1.21

|1 .21 

1

1 1.21

1 -1

\) im crftw jmwmi Mm mii 37? 
mM.

2) m%a mmfctmmrf Mmi m <7srfet 
?k twr tpfism.

3; iMn tfdidlct mducidl f¥m mm %r 

wm mt mm tfmft if mm 1 weft, mi 
1 377tfseft mfrjm mm ik im ik 

Mkf ffcM. mmi wwmm ? sk im

2 0

ikm mwfcf fk^of mif itk M

ilk 2 mkf km mfrgs w$m mm1 
vfvwm Mr, t[oim>R 1 wm. at zjyimn 
yfhetii zizrm meft feigtf mii cmm$ kff. 
ernmk 0 snki.
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1.1

4) or? qffam JidMcR zvfm W& 3mt m
vffcft ter ftTMMcR mWPTM WTWt

5) vffcm dliMcR $m 3?? Mfrft ticffil.

b) *rfter mwmrM sjrdm. foofarr mk 
(tfwcff mm fancft c# w a #or 
w 3?7(M mm mm fm<m 21 M&.

V or 2 mr $ 1,2,3 .... am mm ffrfcwi.
3TRWTW 21,22,23,.... 3Iffl ?7?j2rr . m

M 1 ft 3fp fhfheti mm 21 ter 21 $

vT2l

27W foeHell W m 21 377# 3frcp 21 
Jftfn 21 3T^of 21 cRT ^ c7 gte ?pr ftweft.

= 1. 1

3ST. 2. 998.56 t HWIW? 7E?cfM cpTST.

♦♦♦♦♦♦♦



2 $

maim

JaltAllff - MmT tlMlfed TTS&T TOT TOPS fflPPTOT aloMBcII 3af.

35T. 27 m jtifiMm

2 m mm wmia.
7 err maim <mm.

mm vftfcr 3mi, atin maim fomirft siwm$ warn m m ^rfe, wi iudm, 

srmfter m wnmfi farm mefar mmt mrrnm awm Mer.

or? a 5 b m mtmM vfcte mm saga m 3r#r n m m%rim mm mmmi.
fot*m

l)amXa“ = a“+“ djyuwM m mm mm sr&ei m mdimirff
tik mM.

2) a“ 
an = a m-n

mwimma m mm mm wdet m
maimixtl aotim&'l mM.

3)(aT = amxn ou mmm maim ar#r m marmitfi
tjvum wmt mmt.

4) (axb )m=amxbm m ah mmm vjyimzm mer su)et cu
m sk mmm mmm ymmu tiat.

5)ar an
bbmJ

m =im wz ak mmtm mmmmi ma 3i$et at 
m %m ztmmi mmmmi ma sfat." t

6) au =1 or mhemfi fwiedi mmm or o srtiei 
az cmtft Wm 1 smi.

7) a‘m = I 
am

wt 3.$ mt°M %&ilm n&dM ami
3t$ei a maim wi mi® az m mUm 
ma mm m $m. mat.



1 S3

35f. r<mf firm mw n.<- !<*Ul Ut'i'l,'

1)

n
84 X 8' = 8 —

= 84+ 3

= 87
7

ime = 8" x s' = s

1) wn 8 mm sn$. %wmn 3# 

rff(ojof mum <hot&n WfflTU fcuHeit.

3) WctiWcff 7 3Hoff.

2) ife

63 ^ 6! = V vm 6 mm 3#. mum 3-2

= 63’ 2 mw fMm.

= 61
1

3cdi = 6" — 62 = 6

3) mum 3-2 m mim$ eft w snuff.

. □□
3) (13 x11f =13 x11 3 cj 11 m umm ajyimwm mu 3 3#.

-i *>

= 13 x 11 mmdm writ 133 ^113 mum fcm

*) 357 : S'1 =1 __ mum m mui sri.w^r 53 m mu rin ant*.
5 □

1
5'3 _L—. at 1 hmt wm fftwtlu 3 3JTUt.

70 53

5) 55 =
5 m mrir mum o 3ri 5° = 1 anti.

II

<£r>&fe



-L # U

ULdi® 3t1ull<t> Wlffl -•

3mw rim ufiMri trim mm m [k<u4i<ri riri wri cniti fkwirtt wr 

mcri& mfri® rim mrim m rim mmt. writ m^ihiril dfl# m mmrit ricri mri.
1) $3 MkSipm

2+5
3 3
2 + 5

3 
= 7

3

3i^thitff trio[ <ptcti<ni ?k 3 mi. rin tqm

MMia fhitm.

2 +5 mri trim ricri eft 7 meri.

trim fomrm wr wm m$ w m
tia

4_ i
7 3 X 7 3 D wn mm mi. mmmri

4. I
7 3 + 3

trim rieri.

w%n am x a" = am n
_ 4+i

<y3

_ i
7 3

mmte 3tyyifwzri trim rieri

ar«r 4 + 1=5 trim ricri.
35T. 2

nwar

21/2 X 2 1/3

_ 2'/2 + u3
_ 3+2

2 2x3

wA<t>w

wn mm am+an - am4'n firm mwm.

fk^m ?k di'jodfpixll trim ricri.

_ 5
26

3w - 2+3 - 5 trim rieri. 
ik - 2X3 - 6 f>u<t>u rim.
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£«l*c(l&M

100 3/2 - 100 ,/’ wn mm ant. mwim ant mrnmtff
noimSl $cft.

II © o U
J

K
> am/an = am'n

_ M Mfnfolrft 4oMF& <Mt.
100 2

= 100 2
ammol — 3-1 - 2 Sttcft.

2/2 -1^1 mcm (eilhdl %Icl
nwm.

dcdi — 100

3ST. 5.
$a
X 1/1 + XM mm mm ami. mmm sni mmmft

mmoft $cft.
= X 1/1 ■2,3

Vi - 1/3
hi tkm mife msm n mm$ $Rm f>n<t>u
6

= X
x

= X 6 3-2-1 mmft <M.
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W7MM - 

W& Wl &n

V (2lS)Vl X(2/5)m 2) {l)m -5- (3;l/3

3) (s?4X(5)a 4) (6)3/5 -5- (6)1/2

♦♦♦♦♦♦♦
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mfkcft
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wi® 3i4>ouii Mm cr mimm sti fcni mum Uwz m vit mM m 
m miqili sk am mtm *gmm w%n mm mi^mwi mfrm rni^cwi sti wmu.
ik : - m km wit mmi m ki mfkit mm mi mum.

zzi. weffa miqcfleti mtkcft mm focft mks i im.
ntiet

A D

fptbvm
im pq w ktmm wit wmefi it

3?Ffc# mrmm writ® wwiti fed. 
P________ AD

Q
mi D < A = <B cr 

2) <BsC ftmti. $w PQ n 
mm ki®.
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m&m •• - Mete au^mii mM srsr $zsr. 
D dcrito 2) tftm 

l) Zcfo 4) femaftZ f&>tw.



jmck fk% $ ikeHWl 3MW mk 3meHl ondGiild QiHtdl. 3UW Sil'left v&Wl 

3TR?M VTMt cfel 3JR?M smeft mdck vfcPTI fkk. u(cl<Hl $ 3&fe ft cl4U bM. Hwd<n

3TNWT8 Wteftel WScfM dHddl 4£el.

/ i Mkfl&m

A* C ..............V m^tfi 3iN[di wi
m 3irm kr l m wrneft srm a m

•...... £ ..............•
dam km a1 eft ci % b m km %

B B' b' eft dcftm ofwcr 3nfcr m smw aw a1 <1N

r

v

\
B m B^ iRIcfck % 3ftf 3T$ ^Mdf.

< <<♦^ 
...........

ckw klL-*- kff AAl cT &7L-1

tm bb1 3mi.

B

\

’........ • B1

/

dk -: 1. q#<ikn ki l m ffom sum stmt.
2. fcclm % m ki m$ei fcmm smm smk. fomm 3mmz wttik 

smk.

nmd<n sw^mi ms°t -■■
mrnkf^msmm tgcftm mktei wm nmdH 3W$m w§.

m. 1. ki L m tissrta $<mrs AB m md&i v&km
kms A1 B1 m wrack kms
fflsi. V kiL msdt. km mm m^s AB

m kms msm.
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176t-

B

^A+i------------------------ *

2)%A 91 Tfllck % A1 
msm.

♦ B

✓ 5 - ■ ...■%

i) % B 3T TOck % B 9RSerr.

v. j ! s

A1 * IB1

c ' 1 > L

j 4) W% A1 Bl xtei.
; w%n AB m for A1 Bl 57 mdcm 
foiws fk&ffli.

A1 * ~ —X
BI

i
11
i
1ii

35T. &refg 1 raker <PQRtu wn&r < PI 
Q1 R1 to.

m

q/

V

R

1; for 1 m rafar <&im£ <PQR 
mzm.





1
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t<wi*u<i mdiet MQcviil isr eji wv/s m<$cm <mt.

t
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♦♦♦♦♦♦♦

t

mm 4



VWM 4

fo<p}u[i$ $twa5
180

MoiTft $tw® ]_X TO X M W ^ffid 3*Rlk 3TTW fopMut §^P®

3T7fv 2
£h-: 1. M W erra 3md.

2. m fnpR era 3raat at to araat.

1. 3?r. A ABOofr 1(BC) = 1 Ocmira ADBC mfa 1(AD) =3cm.
AABC $ shm msi.



2) fkmhmi m mft ffrft smm Mvird sfcw mcmi mrefk %mi mi <fcn tfrai.

Mmd imm =Vs (s-a ) (s- b) (s-c) 
m %mm ftrM p ?mm. 
a-* ftmfrwft wffcft 
b “► farplWtft 97If 
c Mwidt fowft 

?s = srefwftft'fft 
s = a + b +c'

2
m prar ^«r 3idnft{kcft midefl

m. m fyrfwm m>% 22 M , 20 M, z 18M, smfc m cmdt stehftfM msi.Cl'Tl* »1Tt ft M fcV ?

1) a = 22 cm., b= 20 cm.c =

-- w* *»f *

18 cm.
1) ftdm a, b, c wdwi iarni.

s = a + b + c
2 adMM W tat.

s - 22 + 20 + 18
2

w%n s - 60
2

tpm&l fy*icft feriggr <Wlo< <M.

s - 30 cm. an^gefi ^err 2 <# nmi.

mmm • - rm Ww <ntj 26 M , 13 M , 5 17 M an&r cR orf swMtfkS mm. 
A_PQR , 1(PQ) = 13cm., 1(QR) = 15cm. 1(PQ) = 14cm., APQR ftt

3Tnfvf)forff mm.



182M»ni &im (kmfrni bmm miefter sto prar wr mm msti. mi.
1. Mmi &m> = 1 x mi x M

2________________________ __

2. fbbmi sfamcfi =Vs (s- 3) (s- b) (s- c)s

m. -■ D m Mmm wn% 17 3ft, 253ft, a 26 sft.an^r. a? mi $ma> mm.

&r
a=17m., b=25m., c = 26m.

s a +b+ c
2

a, b, c, w ffcud fag*
mekfMdi p

?s - 17+ 25+ 26
2

s= 8
2

s = 34 m.

a, b, c, sir (kid ik^of s it (bict mmft.

ftcf
Warft stem 
= Vs (s-a) (s-b) (s-c)

= V34 (34-17) (34-25) (34-26)

= V34 x 17x9x8

M i p (k&i z a, b,c m (bid (kmi.

mmdei mwft mmmbt bit.

= V 17 x 2 x 17x 3 x3 x 2 x2x2

= \/ 17x17x3x3x4x4

mte mm §k $m mm mmi me bi.

= 17x3x4 
= 17x 12 

j =204
13gtp fkmtmi $bm> - 204 itm cm.

wim mqot urn mm i^i pumn bm.



35T. 2) 68 $. 84$. a 40 $. 3Wcl(*n tlcitcflel cFl WKUtlldl 20 M ulciulM 4lcm<4l$3

facft mf ___________________________ ,
is M^4>m

a = 68m., b =84m., c=40m. 
zmM s - a+ b+ c+

2
= 68 + 84 + 40

2
= 192

2
s - 96m.

a, b, c, tzu f&scft fop Wiftfoeff
WRi. m cRj
5T s $ <plde{l.

rfgwjo! ?lciitl shnxA —

= vs ( s-a) (s-b) (s-c)

fkl'M ^ dPTM foge^T.

= 1^96 (96- 68 ) ( 96-84) (96-40)

■ nwnyfl acaiaraf?
= N^96x 28 x 12 x 56

cptttcuci kw&hIhi <wmt<pi tpcit.

ororttf <*>te sfo? g iwr*r sk sk wsak 
si? ^sr os> tot fwfftjw <*kr.= ^14x 14x12x12x4x4 

= 14x12x4
= 56x12
= 672

agzp ml =
= 672 x 20 
=13440

| 1 $. $. HI 20 t SHcNl iwrnm
20 ^ ;pel.

=13440
100

= 134.40 a.
pc§v[ - 134.40 a.

$3# Mia? Maia gk. 1 ?j = 100 M 
w%n 1000 »nwet.



WIWIW- D ow frttfqna fic| 25 M , 39 M, 5 56 M , ante a? o?r &pNi3 
§hw <pjsl

2) fhetMi 3m>cikfl<'t mffflkm 3nerti qABCD # sfaw w.

♦♦♦♦♦♦♦



mm 5
1SS

Jkc*Ul4l<FZ°t - IctMK

zzi. 1) 3( x + 2) = 2x + 7 

m x = 1 (hcWM

Sfcft = 3(x+2)

=3(1+2)

= 3x3

w^i srft =9 

jufcff wu% — 2x +7 

= 2. 1 + 7 

= 2+7 

= 9

zm magft Wm = zvmw%fiWm 

wfn x = 1 $ m&ti zm 3ui.
*

2) zm. =2 (x +3) = 2x + 6,

m w4®mm x = 1,2,........

x = 1 3mmi 

m. m. = 2 ( x + 3)

= 2(1+3 ) = 2x4 

= 8

m. = 2x + 6 
= 2.1+6 
= 8
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sr. m. = 3. m.

mm x = 2 3TW?T7GfT

wft wu% = 2 (x + 3)

= 2 (2+ 3)

= 2.5 

= 10

cr x m. = 2x + 6 

= 2.2 + 6 

= 4+6 

= 10

wfi sr. <rr. *2 3. st.

2TT wftmmim srkm meft mkr.

aiTTMT rer wftmmi mrnm fflcffa mmi f¥</tM fM. mm fkm wffam
Wlcftd.

met} 1km wftmk fekt m&f.

1) (a + b)2 = a2 + 2ab+ b2 

a = vM re

b = p^ re

(vM re + pt re )2 = (wM re )2 + 2(^Mre ) (p# re ) + (p* re )2

2) (a-b)2 = a2 - 2ab + b2

(vM re - p£ re )2 = (^Mre )2-2 (re) (pt re ) +(pt re)2

3) (a2 - b2) = (a + b) (a- b)

(xrf&t re )2 - (pt re )2 = OrfM re + p* re ) (re - pt re )



is 7
3crr. 0 p mm Jamu mi.

fe

(x +3 )2

= (x) 2 + 2 ( x) (3) + (3)2 (a + b)2 = a2 + 2ab + b2 

m mrfcitf

X2 + 2. 3x + 9 x2,32, x. 3 trr %mm? <$m.

= x2 + 6x + 9

w^i (x + 3) - x2 + 6x + 9 25 3 m pw #rr.

3<z. 2) (3ab-2pq)2

m
3g^sr (3ab - 2pq)2
= (3ab )2 -2 (3ab) (2ab)+(2pq)2

(a-b) - a 2 - 2ab+ b2 m mzi.

= 9a2 b - 2.6abpq + 4p2 q2
= 9a2 b - 12abpq + 4p2 ag^r mt 5 djuficpu den.

Mlml4 ^ mm ffcm ma.
V (x + 3y)2, ( x2 + y2)2 ,(2a-3b)2

5#?r ar*rak m3 mmii mi m°t iW gt#.



138
3SI. - cuqpoi (vticfl msi. 
m. (102)2____________

= ( 102)2 =( 100+ 2)2
102 tft $eff = 100 + 2, 100,
1000,... 10,20,....  100, 1000,....
mu umm mt mud utd Hi. 100+
2 3f?ft <Pt5 $eft mi.

= ( 100)2 + 2. 100,2 + (2 )2 

= 10000 + 400 + 4

(a + b)2 = a2 + 2ab + b2 mmi
mf u ojyiupt $m.

' #■

>***( 102)2 - 10402 dim icft.

SSI. 2) 99 2
3g°p (99)2 - (100- l)2 99 it <uts 100-1 mft <M.

= (100)2 -2. 100. 1 +(1)2 (a-b)2 - a2 -2ab + b2^ %mi 3usk

= 10000 -200+1 
= 10001-200

mt u ffimi $m.
1000 + 1 mft $$o[ <M.

3pp (99)2 - 9801 tiall4l<pl <t>cfl.
mem -•• gr mum Wm msi.
1.(196)2 , (1009)2 , (69)2 , (149)2

STFWiSft m$ fkcHH4ht>iu)

1) ( a + b)J m imn -
= (a+ by m fawn *mdfri (a + b) m mum cttw dm %wmz mud sfo.

_______3fHpf_______________________________________

(a + b)J = a*' + 3a 2b + 3ab2 + b3

mm weftcimii mwu ifri. 
a - ufM us 
b - ptw



18H

(qfei re + re )J = ( re )J + 3 (re ) x (re) + 3 
(«rM re) x (5*rt re ) 2 + re )3

2.(a-b)3 m fcTMR -
crffpf y-Hiuhi mw$ fcRrm <$ffl wnfi._______ __

?^cf (a-b) 3 = a3 - 3 ab2 + 3ab2-b3

(vM re - ^ re )3 = (re )3-3 (tfM re)2 x re ) + 3 re) 
x (pt re ) 2 - (p* re ) 3

crftei ?pim srek rerek 
rer. 1) ( a + b )3 ___

o
m tn*n<t>iul

jpp ( a+ b)J - (a)3 + (a)2(3) +3
(a) 2 3

(3)2 + (3)3

(a+b )J = a"+ 3a2b + 3ab2+ b3
m rerak $m.

= a3 + 3a2.3 + 3a. 9 + 27 
= a3 + 9a2 + 27a -+■ 27
55^5? (a+ 3)2 - aJ + 9a2 + 27a +27

$m.

re?. (3b-4)3
&r f qis&ipm

vyi (3b- a)J - (3b)" - (3b)2 (4) + 
3(3b)

(4)2 - (4)3

= (a-b)3 = a3 - 3a2b + 3ab2 - b2
m jrek <£crr.

= 27b3 - 3. 9b2.4 + 3.3b. 16- 64 k ? rer 3k.



iso

= 27b3 - 108b2 + 144b-64 apnw #rr.

spp(3b - 4)'’ = 27b3 - 108b2 +
144b-64

jcdi $tct>tt$.

m. 3) 993 m.
99?ft vts (100 - 1) mi <M.

*pp(99)J-T100-l)3

= ( 100)3 (100)2 (1)+ 3 (100) (l)2- 
(l)3

(a-b)3 = a3 - 3a2b + 3ab2 +1 
m jtrak

= 1000000-3. 10000.1+3.100.1-1 cprf 5 m

= 1000000-30000 + 300-1 ■jjyiWK $w.

= 1000300-30001 mm mwm-m mmi <M.

Jgvp ( 99)3 - 970299 ftm w&i cmw<& <M ?
ftm?

mam - gnw rok atear.
D (4a+5b)3, (ab- cd)3, (102)3, (10)3

♦♦♦♦♦♦♦



mm 6

*

lsi

mm. mftmi
oiu&iR UZH mffewicf U<Pld tMMVl 3T dlVi <Potl <4let] d c3I WcfTWI *4l^kfld oTTM tttcfl<#» 1

srmf wm mffmwm awet m4}&M wi tf-waia. 

jzi. 1) x +3 = 5

2) 2x - 3 = 6

3) 5y + 2 = 32
u$>m nhkmmA $mi mwim feff-

1) tudlmmim sicpr cmw mm fkmeft. 3^r. x -2 = 3
w%n x -2 + 2 - 3+ 2...... 2fkmi.

2) wttmmm supr o^r wr g«fT m. - x + 2 = 3
i&cft. x + 2 - 2 -3 -2 .... 2mi $i.
3) wflmmim mm mdi ' 2x + 3 = 7
ami. 3^ 2 (2x + 3) - 7x2 ...2 ^ apioL

2x 2x + 2.3 - 7x2 *jyd.
a) wftwmmi <?WI m^ii mm mM ami 
tjczfim

mjei 2x - 16

wfn 2x - 16 .....  2 ^ wai^.
2 2

fW mm mm ahM mm.
im. x +7 = 8

$3 «wftmui
x + 7 - 7 -0 8 -7 

x+ 0 -1 
x - 1

7 mi $i. 
doU4l<t>l 3>H.
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Mcf V&ffaTWcr cfTaSI cfrfi.

zrfl = x + 7
= 1+7
= 8 ........... (1)

yjftm'm mctcft (k»Hci Saefl ci
Mm <M.

M<ft fPf - 8 ........ (2)

3?Wof SI$ WF% - WF^

wftem 1 , 5 2 mm

3?r. 2) 11 (3x + 7) = 13 (8z-s)
to

wp 11 ( 3x + 7) - 13 ( 8x- 5) 
wp33x + 77 - 104x - 65

33x + 77- 77 - 104x - 65 -77 
w^i 33x - 104x- 142

33x- 104x - 104x- 104x- 142 
wym - 71x - -142
Wfn -71x — 142 

-71 -71
v&fi x - 2

cpWlWl qiMel &&&<$ <pm<Het TrM
aprct.
w$m 77 wm <M.

wp 104x mi $i. 
mictfo vstft Mm <M.
-71# ww#.

m. 2; 2x +5 = 3 
3x +1 11

wfi 11 (3x + 7)=13(8x-5) 
33x + 77= 104-65 
wp 33x + 77-77= 104x -65-77 
w%n33x = 104x- 142 
w%n33x- 104x= 104x-104x- 142 
w -7lx =-142 
= -71x = - 142 

-71-71

x = 2

mmi wiMei rnM w&e mM 

77 wm <M
104 x mi <M 

micflu vznft Mm cM 
- 71 # »mti.



351 2) 2x + 5 =3

3x + 11 11

1 S3

t

w 2x + 5 - 3
3x + 1 11

wfi 11 (2x + 5) = 3(3x+l ) 
jgwjcr 22x + 55 - 9x + 3

22 x + 55 - 55 = 9x + 3 - 55 
w*m 22 x - 9x - 9x - 9x - 52

fcwm f>um <$m. 
m uhcti.

3w^i 55 mi
9 x cm <M.

ii

13 x - - 52
13 $ wwi13 x — 52

13 13
x —4

wregrg weffa wfem .
1) 2 (1 ly - 1 ) =8y+12
2) x±2 = 7

x - 3 2
3) 5x-4 = 4

2x

(ttt 641&M
3ST . 1) sk 3fliOT 3RR 4 g£ 3fl#. 5 g#£$ oKW gg$ 5 sM.

7
<T? fgTtft 3T7uTtft

$cl
wm mi m -x mi 

gfogr mmi m - x + 4

rtmii wi Mwi fkfeefl.

mm wcmi m - x - 5 
g gfegr wgpt gg - x + 4 -5 

= x- 1

5 mt nkitfl a# mseft.

t*
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V

r (T ■x • . \ * p

x - 5 =5 
x- 1 7

5 ml^dld mm mid ^ilcctt — 5 

(et6ei.7

^ 7 ( x -5) - 5 (x - 5)
(clWti jprni Soil, 
mi 0i6ct.

w^ilx - 35 = 5x - 25 35 fkcoiciel.
^ 7x-35 + 35 = 5x-25 + 35 w%n 5x mi $i.
w^r 7x = 5x + 10 & *1

35^ 7x - 5x = 5x - 50 + 10
2x = 10

2x =10 2 d umi.
2 2 X ik><Hcl (jdcfl.

x = 5
3?^ eT$ffl wm} m = X

= 5 mf
*ifcm wmd m = x + 4 
= 5+4 x tft f&m foeft.

= 9cf?.

*zimv -• u4lct>M mm mzn titm

*\) viheft mm $Hm mmdm i d &em 3ti£. vfee*u mrdd ^sm m&ttft yytlccu 4.- 5 sn£. 

m m mm

2) im sn^ihim ?k 3wirt$n 12 d ^tui sa£. mm mmqsi 2 mi w snfk ifem 1 d 

ft™#* cwk stro su^yife I ?ft m^vu 3m?, m at 3r^fo cfimi 
(mi =x m. )

t



ISO

mm 8

mfbfci v srret mm
mm -

m mm amif mm wm mm mm. tor mm irnrn vftiz wm 
wrnm. Wm m mm p/q (q ± 0) m mmm tor to mm rnrnm vMz mm mi 
mmm.
am. 2_, - ]__, 5, 0, - 3_ f.

3 5 2

* mlttz mm -••
m mmi zmi mi mwmff ami mm mmm mufti*i mm mi

Wrl.
33T. V3, V2, V5, ?.

* snifter toot *imU<u zmfarf •• -
3?r. V2 $ aprf^fcr wr, wmt to tiwfai.

$d

< ............................................................*i
mm 1 # &r msei.

«"C-------------------X------------------T
0 m %r 1 iit mmm ftr% A

icm.

R

0, ___________ C

►

! . B

% A m mm m<%s 1 M amm fk% P 

tor. *

^-------------------------- w--------------------------------
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mwm - V3 , V5 m mm$m mm.
*mttz mm -:

¥&»& a mMv mmi fka*i mm mm ard *mam. 
etufck mm ^mi, f*fo mm, vfoti mm, a mtm mm mi mwt m mm mm 
wmm. mi mm mm mm mwfam im. m mi mmm mm mmki mi 
wmm.
mtigm mmm yrak m&n mfy® msi.
1; 3

x = 3 
Vx = V3

wjei V3 = 1. 732

JctR- ^sr V3 = 1.732

it mm X atlSfeft. 
oTT ?Rc¥T m$$mm ffcm fern, 
mmitm x snr Mcft 3 vfe a 3 m 
Millet a Vx sir mimwettei mm
mHeft it 1.732 it fkosrett.

•if..(f
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€k

ggfp umme# 99 liter mm3 fti mi. mm 3m 3tm mm3 *pfym it
mmm mzfoi w msm 33.

1 nj M

*3sr. =372
1. 372 = 4 x 93

¥^Pf ftetegi trp^ arm mmim zjyimum

Micf $ m3t w3%3 cmm smrftm 4 x 
93 3rd arggg dm3.

V372 = V4 x V93 $4<%mi3 dies $3.

V372 = 2 x 9.644 4 3 g 93 3 ga%r g<flei mM u3^on mm 
mM.

V372 = 19.288

V372 = 19.288

mwdlei umm *jymx $m.

Hamiti. - g#p m<mi ;mk iszcffcr srpst^ gafp g>rer. 
1) 42 2) 98 3} 1000 4) 200 5) 162
3sr. PW wtrard shw 88 gtM 3umm mm mit msi.

dtad $? - 88 

*ft. 3% = ( wi)2
88 = ( ^ )2 

a/88

asp sf| = 9. 381cm.

1. Mean femtt (ef&Wl.
2. TfT t&M
3. ferp gdp ^cfeT.
4. gazp ernrar 3wk g^ 88 d gd^z,

msi.

1. im <t>i6<t>}ci Mum fpic&lm w-4r gp| 87b$ g 9 33t 3n#cr.

a? otw mffi eti3t
2. o PQRS d sh = 62 dtM sni. m mm m^tt wMt wm.
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wm 9

Weft® 3UQ>oZti Mm

wtfe[ Mm>m$ Mm 33 3mm, w&mtM 3w$mi femmi mtmm smk.
sirm mm 33 sofa, 3im sn^mtm wrm 3w^cm 3t3 wnam.

Mmxff wwai P

gtfer m<$£ arefer AABC , APQR m mm 3m$cm sink, wmimft ~ m famm 
iFRfim 3m mnf.

AABC ~ APQR 3{i Mm.

€k -•■ <sk ftmfa mm srmfk w amma srsm. 
m A ABC ~ APQR m

wfi 1(AB)=.JCBQjij(AC)
1 (PQ) 1(QR) 1(PR)

Mmt Mmm mm dt3to mmt.
zm. AABC tit wi 2 M si3.

AABC , ADEF wm wm ma$ v i sn$. m ADEF msi.

fte Wt&lmvi
AABC ~ A DEF mmii} foe# mm ftmfo M3.

FAB) NBC) lfAC) 1
1(DE) = 1(EF) = 1 (DF) = 2

mmM mmi mvm mpm themi.



1S9

mrem
1. APQR iftf |(PQ) = 4.5 cm., 1(QR) = 6cm. 1(PR>=-- 4.5 cm., 
APQR, AUylN

wsm sm Wigt yite? 3 : mi ^ Al,im ges.
2. AABO4 j(AB)= 8. cm., 1 (RC) = 6c?p., )(AC) * 10cm., AABC, 
^ APQR jkjtj ai« 2:1 3iwJte APQRiwsr.
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mm 10

t&pk t
ul<plm

a n

w&m mr^cM fkftm <M. mm mmrnm wiefta me ft ffifk.

1. AB, ^ BC, CD, ^ AD

2. < A, <B, <C ,<D

3. mf - ml AC n mf BD

t&fik P^CT *OT = 4 ^ + fcpk + 2 = 10 SOT

tfh -: zftrdmmi u^i 10 wzmM <ehM s me smdk m tftmk mm mm M. 
m mmw u^i m umwi mmm nmm mm mm smtct. 
im. V ygfa mmm. □ DEFG msi.

1(DE) = 3.5 cm., 1(EF) = 2.5cm., 1(FG) = 1.7 cm,
1(DG) = 2.5 cm. 1 ( DF) = 3.5 cm.
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Muua*i 1; sofcu 3M 3ti£ «j w4 PR = 3.5 M 3ni. am m^pr 
ot. PQRS <i>rsr.

2) ^er nABCD <mr.
1(AB) = 4,1(BC) = 3.5cm., 1(CD) = 4.5 cm., 1(DA) = 3cm., 

1(BD) = 5 cm.,

-■* cfh w zh art fact arm vtmk <mrf.
dm. nABCD am muz <3 1(AD) = 1(BC) = 3.5cm., 1(AB) 

=5cm.,
1(AC)= 1(BD) = 5.2 cm.,
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«

D»--------------------------*C
3.5cm

mm = BC = 3.5cm. M ^iserr.

tor
AB = 5cm., AC = 5.2 cm., mwtfk 
%
A M$m Mi. z AB , AC sftecrr.

5cm/ \ 5.2cm

B 3.5cm C

A-A^^Scm 1 (BD) = 5.2 cm, 1(AD) = 3.5cm.

mm&E % D fkftm Mi. AD, AC
5cm / \ / / orteerr.

□ ABCD Mem mwm Pimm.

B 3.5 cm C

rareeiR ■• □ STRV mm mm $ 1(ST) = 
5.5cm, 1(TR) = 4.5cm, 1(TV) =
8cm.
2. □ PQRS 3m mm <it 1(PQ) =
I(PR) = I(QR) = (QS) = 5.1 cm.,

1(RV) = 5.5cm, l(SR) = 6cm, 1(RS)
= 4cm. 1(QR) = 3.2cm.
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{xfati 3 <$M ?feP®r cftw tietM SfflcR <Pl<Zul.
wm • eiJicr&n Wm wmm w%
w. o DEFG, KDE) = 1(EF) = 4cm. m< d = in <e = m< f= 90°

4 M

4M

w>£<pm
wpi fedezn mi*ll mwsett.

E
4M

D

4cn

4cm

F toEF = 4M errfe mzm.

m< E = 90° , m< F = 90°
<?k mzi.

1(DE) = 4 cm. ammiet %% D foftm
$cH.

m< D = 90°, msm ? GD octsm. 
= dDEFG Mmt mm t/kk 

tktiim.
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1) □ LMNO, 1(LM) = 4.8cm. 1(MH) = 3.8cm. m< M = 100° ,rn<N 
= 90°,
m< O = 80° , oLMNO tot.

2) □ PQRS 1 (RS) = 5.6cm , 1 (PS) = 4cm., m< R= 65°, m< S 
= 85°, m<P = 90°, □ PQRS ma.

triatt 4-: cfk w sk mifcK mk fcrf mm
3?r. □ ABCD sm 1(AB) = 4.5cm., 1(BC) = 3.5cm., 1(CD) == cm., 
m< B = 75°, m < C = 85°

jgrraw
1) n GHJJ 1(GH) = 5.8 cm., I(HI) = 4.5cm.,

I(GJ) = 4.5cm., m<G= 75°, m< H = 105°, □ GHIJ ^rar.
2) □ PQRS : 1(PQ) = 1(QR) = t(PS)= 5cm., m < Q = 120° , m < R = 60°
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mm 11

- wMm

um ftm mm mmz smm-m fttgm mm stf® wnm. dfarf turn

wicftci imti mfcr.

1. - ffftga <fc wicird 

i&fi O m & mi.

2 ter -.- <k 5 itimd&ei vhwit m % mm otism-w krnsrn ter wmm. 

kOC =fe OA = $mOB = ter mi.

3. mm -■■ mm-m kmtsm mm wmm.

im AB = mm sni.

4. oftm -•• w$m&cr cpkM im ki ktsm-m krnsrn uftm wwm.

wft $m AB ?kDEpr of.ir snin.

5. <p&&w -•• dtf&mi mfocmit zk fkm it%m Mm-m km Mm wmm.

kiFG it m$mft jdMm 3mi.
%

6) wfflm -•• ct&ini m sofa umm %r ikm-m km mfflm skt wms.

ki BH mImtft wfflm smi. <i % B m mi. 

mms for -1. <fo m mmmi mat.

2. ter mmmi fk&ft smi.
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3. mm fodan <piz 3nmt.

4. wi fam s mm mm simm,

5. mm $ wrfs M uffm ami.

6. mftfm $ faim m ami.

mm 1 -:

cttfmmi mftfei msi
3?i. - 2.5 M faii mfe> mm. T mfjmi TK

A mMm mzt.

&r

l ° \ I • | (km OK - 2.5 M i yfa msi. $ 
ctcfmm Km fa% ism.

[ ,> V . fam OK msm.

mrmi wtmit et<t> K m
Ml,M2 ik m mzd.
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* Ml , M2, m tews <pmrm T% ter.
35^pr &r KT $ wtor tee#.

—"^<r ^ s
/ Ml \
/ 1 \ M2

°-f— K--- 4—>
1

mmm 1. M to# <pisi ci<£tilcu P
wi a P negt q^rer prefer w.

raofl-' ffiggs wMm 3.7 M tor ante mft ms1 <kmq<*
tM simM P m ^rtor g>rsr.
#fr -

wktfom tor 2.7 M # 0 m <ifc ter.

P

o
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Sdimqcl 7tM 3icUlcU P tidetl

MkftiPtut -■’ cfe M ^5T ^ tor = OM %r g® <rcf® ®rsct ®rr f%r
tofcr oTMT

AorB^ojM^rPA^PBFgrdw Fitor m<scm.

Mtmti -.*

1. P = 5 tor 3M smii m wfa wsi.
2. PT = 8 M. %pr, % T 3T^r n^ma trfkfm msi.
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item 12

m Ufpww&t zil&latid w w4 cwt [k&faud fewum wzii 
Mmm gUmTzft ftftw j&opfa fcim nWmi &ms Pmt. shwm$ m
?pm i vezrftm wm <$m. cffa tot m ftmrft mm? mztci.
1. $ma> =1 x to x M rft.

2
2. Mmi iwos = V s (s-a) (s-b) (s-c)
g$ef tyiwn dHdbt ul<pl<ni*l $Uh>v> <Piad vtld.
to mm 3ffldm ftmfwM afacm nhtikm} zhw<6 __________________________

zfi<t>fari iwm = 1 x x Mfft tfcx 
2

3fF§cft ared 8m BD i to CFto BD are 1(AE) = 12cm. 1(BD) = 18cm., 1 (CE) 
= 9cm. ,dABCD i iwss msi.

fc

□ ABCD i iwos - 1/2 xwtix to w$ mm 3it£.

1/2 x BD x (AF+ FC)
= 1/2 x 18 x (12 + 9)

!k><H<8 (eilbeqt.

= 1/2 x 18 x21 micttel ttffcf <M.
= 1/2x18x21 

= 9x21 
= 189 it. M.

2 8 18 err mwi 19121 to fmm? ~4m.
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Mltmq-: 1. weft m wmm ftm mi o?ii &ms msi.

2. □ ABCD in m4 BD m^i An C m mkz kAEfk 
m msi min. wz 1(BD) = 10.4 cm., 1(AE) = 6.2cm., 1(CF) = 4.8cm., 
□ABCD i $hm msi,
2. mz <zu%n wi ftm mm iwm msi. -

m mmi samom i fcpfo fkmm. mwei f&zM zp wrm £m& msi mi. mtft 
nm mite mzmr rnitit rnii.

3® □ ABCD, 1(AB) = 14cm., 1(BC) = 5cm., 1(CP) = 12cm.,

■-M
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= 14+13+15
2

= 42
2

= S = 21CM.
«

A ( AADB) = Vs (s- a) (s-b) (s-c)
=V21 (21-14) (21-13) 

(21-15)
= V21x7x8x6 
=V7x7x3x4x4

MU m Mi. ftmcft Mm

mts mm ^ cwr <M.
= 7 x 3 x4 
= 7x12 
= 84cm.

= A ( AADB) =84 *ft cm..... (2)

vUm urn mm apum $ua.

is

aim mU A BDC 3
ABCD are#
a= 13, b = 5 , c = 12 
s = a + b + c

2
= 13 + 5 + 12

2
= 30

2
s = 15cm.

stMPicfl msmmtf a,b,cm MUt for mi 
z s tft Mm fhtett.

A (ABCD) = Vs(s-a) (s-b) (s-c)

=Vl5 (15-13)(15-5)(15-12)

= Vl5 x2 x 10x3

MU p fct ^i MUt Mum.

= \/5x 5 x 2 x5 x 2 x3

= ^5x5x3x3x2x2

mts mm 3WP! wmim itsm mu <&m
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m

= 5x3x2 
= 30cm.
= (A BCD) = 30 cm. 

A A (BCD) = 30cm. ,. (3)

w&p DizRgn m mm ajyimt dm.

A (□ ABCD ) = 84 + 30 

A(n ABCD) = 114 cm.

13 2,3 3$oT □ ABCD i $was
0ldd.

MltUiH 1. mieft m smm &m 3ni. mits fciem mfMfem mi iws
W5I.

3. M&t wm $mas wm
meti s ^rni <mz uirat.

1. fkmhli i$m = 1 xwnxM
2____________________

2. Mmi = ^s(s-a) (s-b) (s-c)

3. mmmkmt viw -:

(wi f = ( mi )2 +( 3P|)2 fk^hid
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wzsmihmt viz wcm urnrnr wn%$ mM mmit mi. cmmil
uw% 3?r. m. <t>id<t>U ffatw ABC n&t < b =90° , AB = 24 m. ,BC = 18m.,

P

2. Uffl 4>ld<pl<n (kfpfallcl 4>tC&lei miW-m
iM . ^ 12 M 3ntcr m mm 

mrf mm.
m. - mefte 3w$ifci f&tm mititem □ PQMN i sfcms mm.

P
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\( □ PQMN) = A (APNQ) + A(ANMQ)
........(1) _

su^dtcim ipt mr $i.

■iPNQ wi
\( APNQ) = L x NQ x PL

2

1 xmw X M m <pcii.
2

= Lx ^ 5 x 10 
■ 2

= 45x5

= 225

pp A(APNQ) 225 <0*8.................(2)

fh%n wW m M.

A NMQ wi
a = 39 cm., b = 42 cm, c = 45 cm.

*5*1M S - S + b + C

2
= 39 + 42+45

2
- 126

2
S - 63 cm.

ffcpJoiiz/U cftdf 31 lid.
aW'ffl S tft Wm MZcft.

A NMQ 3 shw

c V s (s - a) (s-b) (s-c)

W63 (63 - 39 ) (63- 42) (63 - 45)

ftrcH fyi timi <i fexftdl fci&cw.

<= a/63 x 24 x 21x 18

W9x 7 x7x 3x 8x 3x 9 x2

sV9 x9 x7 x7 x3 x3 x4 x4

mrm>l &eft v msd.
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= 9x 7x 3x 4 Uci<P diaqai utpiiifUi $$<4 <^il4>U <t>ctl.

= 63x12

^ 756 cm.
A( AMNQ) = 756 cm.......... (3)

*P3«r A ( oPQMN) = 225 + 756
= 981 cm. 1 3 2,3 3^ ........

fmm 1. □ PQRS w* 1(PQ) =18cm., 1(QR) = 24 m. ,1(RS) = 20m., 
<SP) = 28 m. <PQR = 90° an#. 37 □ PQRS $ shvoo fi&cft.
. weft m ^visim wmm fern mi. cVMtflet mi nom m mfk agmi &m> m&.

40m.

60m.
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wm 13

fam MmM - smm
wm- • sr? a sniffy b wi mhcmit sk imt suicflet snffy w? b # a fk§w mw win snfci 

m b err a *rr smn wim. 1
cfif fyqtfM 3JcRc[ -: um fcq<fkefk mm mm wmfk wm sk akor m mm 

i ftrnft sri wmm. 
jsr. 2 . 2x2 + 3x + 1 

3. y2 + 2y + 1
tm 4d{fk<i<tM smm mrsmmit mmm mts mmt sm?m smi.

A

jm. or x + bx + C # mrnm mrnmnzw 
b eft mfe mwt sm?m siri. 
b eft mte <pk weft (ftmimnft) wm mwft mak.

jfymii fkm -••
1. etffui ftm cffiienct)} 0MM1
1. mm (+, + , -, -) 3mcfk cr iftw wm wtm wmtft fern fksti. 

jm. : a) 2+3 = 5 
b) - 2- 3 = -5

2. fim k4 3imfk mmi¥t mm wtiw mwtft fkw mi. 
im. 5-3=2 

3-5 =-2

im. mm sk mm tftm <$ ymmu 6 n iftw 5 3ni.

Ota Fitftwm
6 = 2x3 nftw sk w ezr «f!tcfe twz

= 6x1 1.2+3 =5
6 = 2x3 2.6+1 =7

.
2,3cm mm - <*6ujoi 5 q?m mmtt wit mwsm.

- 2 zpmu 12 $$w = - 7

•• i\.
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fe

??p2pr 12 - 3 x4 
w%n 12 -6x2 

= 12x1

.+ 12 ajwire sk ami «)«wl

12 = (- 3) x (-4) £pt djmtptt <$641 (+, +) &<«(-, -) 
w sRarrai 3Ti3cf.

3^r =-3,-4 wfi - 3 + (- 4 ) = - 7

mmm 1. = 9 = 10

2. fPR = - 35 cftk = -2

3. pjrore = 100 Hw = - 25

** Mum mi ste w m^t mm msi.
m. 1. x2 + 7x 4 6

x2 + 7x + 6
= +6
/\

+6 +1

fkwkf vte $4t «r ftp# kter cM.

x2 + 7x + 6 = x2 + 6x + x + 6 wt# ^g <Mt ik - #sk w: $4.

=x2 + 6x + x + 6
= x (x+6) + 1 (x+6)
= (x+6) (x+1) 
x + 7x + 6 = (x+6) (x+1)

m mwfa msm.

x2 - 6x + 5 ftmtmft rig tied. ? fk<4 ffl&m <M

x2 - 6x + 5 mem wi4t wts <M
+5 apr 7f|pr mmfa tfoi

-5 -1
.^pr x2 - 6x+ 5 = x2-5x-x + 5 

= x (x- 5) -1 (x-5)
= (x-5) (x - 1)

?^pr x - 6x + 5 = (x-5) (x-1)

cW flPffik tor.

i
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mtwm 1.x2- 20m + 96

2. x2 + 7x + 30
«

3. x2 - 8x + 7

* m mM mm
1. (a + b)3 — a3+ 3 a2b+ 3ab2 + b3

2. (a-b)3 = a3 - 3a2b + 3ab2 - b3 

a -vM m
b- cfiti m
mm wctfa ffczi mi.

1. (vM m + m )3 - ( vM m )3 + 3 (vM m )2 x (m )+3
(5# m)2 +(m)3

2. ( m - cpti m )3 - (vM m ) 3 -3 (w )2x (pt m ) +3
(%) X (pt w)2 - (pt *p?) 3

gfc yrak ^sr 3iwr ^
3?r. 1. 3rwr *rrsi x3 + x2 + 27x + 27

$a
x 2 + 9x 2 + 27x + 27

= (x) 3 + 9x 2 + 27x + (3) 3

mfktfk mutt vi bereft.

= (x+ 3) 3 esrat# sspjd z mmi mii fkm fep
gw 1km.

= 216 3 - 125 3 -540+ 2 1+450+4 2

fe

= ( 6p) 3 - (5q) 3 540pq 2 + 450pq 2 
= (6p - 5q)3

m$m»i

mii m ktvk rnrnm m 1km.



213

irem. mm msi
1. x 2 - 3x 2 + 3x-1 2. 125a3 150a2b + 60ab2

+8b3
gk umm tsU n amm

1. sk mtm foM smm
a 3+ b 3 = (a+b) (a 2 - ab + b2) 
a- vM m 
b - pt m
(vM m ) 3 + ) 3 = (vM m + pt m )

[ (v&id m )2 - (vM m ) (pt m ) + (pt m )2]

2. sk mtm mm -
( a 2 - b 3) = (a- b) (a 2 + ab+ b 2)
(vM m ) 3 - (pt m )3 = (vM m - p£ m)
[ (vM m ) 2 + (m ) (p£ m ) + (pt m ) 2 ]

crtter wzfri <$m meftet mM 3mm msi.

3?r. 1. a 2 + 27

#cr
3 + 27 = (a 2) +(3 3)
(a +3) (a2 - a-3 + 3 2)

(a+ 3 ) (a 2-3a +9)
*p a3 + 27 = (a+3) (a2 -b 3a+9)

imim hw teft.
- a 3 + b 2 = (a+b) (a 2-ab + b2) 
m pni
k 5 vjvifflR $eH.

i. 27p3 - 8q 3
&T

7p 3 - 8q -2 = ( 3p) 3 - ( 2q) 3 mrm mm femeft.
= (3p- 2q) [(3p)2 +(3p) (2a)+ (a3 - b3) = (a-b) (a2 + ab +b3)

a)2] m pm mki.
(3p- 2a) (9p2 + 6pq -4 + 4a2) k w vjyimR $m.

. 54p 3 -162 3
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54p 3 -16 q 3 
= 2[(3p3 - 8q )3

54, 5 16 m sk m mm wfc m^i
2 mmtm isi.
iwi fe mg* mm mmt mm
f&Effll.

= 2[ (3p) 3 - (2q) 3 ] a 3 - b3 = (a-b )(a 2 + ab + b2)ii
?pr mrni.

= 2[ 3p - 2q ] [ (3p) 2 + 3p 2q + ( mwcttet m $m.
2q)

54p3 - 16q3 = 2 (3p - 2q) (9p
1 2 + 6pq + 4q 2 )

wiurw amm iisi
' 1. 64a3+ b3 2. x 2 - 343y3 3.512 + p3

meffct fkmrfkwmm imk mm mm m %%
1. (a+b)2 = a2 + 2ab + b 2
2. (a-b)2 - a 2 - 2ab + b2
3. a2 - b2 = (a+b) (a-b)
4. (a+b)3 a2 + 3a2b + 3ab2 +b3
5. (a-b) 3 = a3 - 3a2b + 3ab2 - b3
6. a3 + b3 = (a+b) (a2 - ab + b2)
7. a3 - b3 = (a-b) (a2 + ab+ b2)

wtt m <m (a+b)3 - (a-b)3

(a+ b)3- (a-b)3 (a+b)3, (a-b )3 t
= a2 + 3a2 b + 3ab2 + b3 - (a3 - 3a2b+ 
3ab2 - b2
= aJ+ 3a2b+3ab2 + b3 - a3 + 3 a2 b - 
3ab2 + b2

Wxl fthciel.

= 3a2 b + 3a2 b + b3 + b3
= 6a2b + 2b2

hvo m m.
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2. _1_x (a2 - b2)
(a-b)

is
J. x (a2 - b2)
(a-b)
lx (a+ b) (a-b)

(a-b)

a2 - b2 = (a+b) (a-b) sm$.

= a+b
wfi 1 x (a2 - b2) - (a+b) (a-b) 

a + b
33L 3
__m - n x m + mn + n

m3 - b3 m2+ 2mn+ n2+

Simdlet S iklcftcf WHW mm UlMetl.

2 2 2 , ,2= m - n x m + mn+ n = m -n = (m+ n ) (m-n)
m3 - b3 m2 +2 mn + 42 

= ( m+n) (m-n) x m2 + mn + n2 
m2-n2 m2+2mn + n2

= m3 - n2= (m-n) (m2 mn+ n2)

= (m+n) (m-n) x m2+ mn + n2
(m-n) (m2+mn + n2) m2+ 2mn+ n2

(m+n) (m-n) x (m2+mn + n2)
(m-n) (m2+ mn+ n2) (m+n)2 
= I 

m + n

= m2 + 2mn+ n2 =(m+n)2
s ikmiei wm 3mm mmi.

HWAIH - aft ot

1. 8a2-27b3
4a2 - 9b2

2. a2 + 10a+ 21 x a2 -1 
a2 + ba- 7 a+3

3. (a3+ b3) - (a+ b)3
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mm 14
jmmwfb&zrf:

m mmk® - ■ 
mm- x+ y = 14 , x-y =6 m 

= x= 10 ,y =4 3ff 
• x + y = 14 

10 + 4= 14 
wm 14 =14 
= 14= 14 

cr x -y = 6 
sg^of 10-4 = 6
Wf i 6 = 6

a^Ejsr x =10 g y = 4 ^nr iatfsr <t>luiwt$ f¥mft 3$mi m km
mfi.
<wmi -•• “ om zk mftmmd imM mm mrfi mrnm iM. m mrmi£pp 
utffrrt srd nfiORim.”

-mmndm wfam rdsfkmmi^f ®!ete ikmtm mw mrti. 
i. mm mm mm fxm$ (+,+), (-, -)

3mfim m mM wwr<$ mkf. 
i. mm mm km mkfct (+,-)

meft® m mM Ufa mr$. 
m. 1 x + 2y=ly, x - 2y = - 3

&d
x + 2y = 17 — [1] 
x - 2y = -3 — [2]

iq^cpM
ti4l<ptuiim sfi? f%d.

.. 1 + mft 2 adlmmufk 2y m mm mam km
x + 2y) + (x-2y) = 17+ (-3) km 3Ux‘. crjrft f?+T tzft.
= x 2y + x - 2y = 17 -3 km fiimim mm mmeft fflsi $sft.

= x + x =14
= 2x = 14

= x = 7 $b£l «ti<p 2 d mwi

ST$ WP3[ — Mcfl WU%

wfi wft = arf wui
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*r. 5x - 4y = 3y, 7x- 4y = ,55
<=5x-4y~37 ------ [1]
- 7x - 4y - 55----- [2]

wftemim m? te.

wft ... 1 W Wft... 2 4y m wm vnim wm
<= (5x-4y) - (7x- 4y) = 3y - 55 ant.

<M.

5x - 4y - 7x + 4y = 37 - 55 m kfezi ter wwm mmd .
= 5x - 7x = 37- 55 cT<IMl<$ <M. -2 8mi.
= -2x = -13 m it f&icft msmsnft y wft 1... mi ifod.
= x = 9
= 5. 9 - 4y = 37 = x - 9 wftmm
= - 4y = 37 -45 - 4 si »rte.

001!•II

= y = 2
« = (9,2)

mu wtzm
1] 8x + 9y = 154, 8x-13=-66
2] 3x + 8y = 43 , 3x-7y=13
3] 10x-2y =34, 7x-2y = 25

x + 2y = 17^ x=7^sr y it fern x = y wft... 1
(felt.

x = 7 ten %r 

2 ^

y = 5

3M = (7, 5)

7 + 2y = 17 
= 2y =17 -7 
2y= 10
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‘^PR'nmH g^rrornr3^mn:^Rx 
1 tStsitot ^rnwtsT^qr iTR^ffe

RT 'CRrSw^ M TTWTBTT3pn XXii >3T1X* MX M

a* c5JK1T\ *cmu\i v\4^ W+\ rRTT XJl’tXlU-^ " Mn TdpBnJI^ 
^tjtRtx rV^ . vh <Xi*-W XT1\T*M »\\^\\A ’XMXnT 

8 ZtXRuT Tprotcn^TT 'MTXWHRT tStTT5T- 1 <3 WWTTT- 2.
_ ~> f' r- r\ "X *\

‘R X^Xt34^UM<rT XRT Rl'3fcT\l TnX<X»*W£3TOY cRR XmTT
(WtSt FRTR ^cM' *0 3.RT <ST¥^’

' ft u rwVi tJmT <SRRTRn^ T^T^TrT wftwVTO^

-trr TXT- XT
( Xo cTT sRhoTT%B ___

xn^BTSb
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